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1. Evaluate the judiciary system of Company’s rule. 14
OR

Discuss the revenue system of East India Company.

2. Describe the causes responsible for the Revolt of 1857. 14
OR

Discuss the results of the upheaval of 1857 and review the causes and its failure.

3. Examine the internal policy of Lord Lytton. 14
OR

Narrate the reforms of Lord Ripon.

4.  State the role played by Brahmo Samaj and Rama-Krishna Mission in Socio-religious

movement. 14
OR

State the role played by Prarthana Samaj and Theosophical society in Socio-religious

movement.
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5. (A) Write answers in one or two sentences :

(B)
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(1)  Who was the first Governor General by Law of Company’s rule ?
(2) What was the basic slogan of Governor General William Bentinck ?
(3) State any two reasons of Afghan Revolt (1840).
(4) Name the main basic ways of the policy of lapse of Dalhousie.
(5) What was the immediate cause of the Revolt of 1857 ?
(6) Who was the 1* representative of Theosophical society in India ?
(7) State the name of Swami Vivekananda’s ‘Guru’.
Match the Pair :

A B
(1) Pandit Sundarlalji (a) Permanent Revenue Settlement
(2) Governor General Cornwallis  (b)  “Prophet of New India”
(3)  Viceroy Ripon (c)  British Rule in India
(4) Peshwa Nana Saheb (d) Eighteen Hundred Fifty Seven
(5) Surendranath Sen (e) Satyarth Prakash
(6) Swami Dayanand Saraswati (f)  Jagir of Bithor
(7) Swami Vivekananda (g) Elbert Bill
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